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F.IF.C.7: Graphing Step Functions

1 Morgan can start wrestling at age 5 in Division 1.
He remains in that division until his next odd
birthday when he is required to move up to the next
division level. Which graph correctly represents
this information?

54 *—0
c
o 44 —0
5 3 —0
S
a8 2 —o
14—

1) Age
5+ o—o
E 44 o—e
E 34 —e
= 24 o—e
e 14 o—e

2) Age
54 L—
E 44 e - a
B 34 —s
g 24 —o
14 o—e

3) Age
5 Oo—0
S 4 0
;_" 3] o0
& 21 O—0
14 o0

4) Age

Name:

The table below lists the total cost for parking for a
period of time on a street in Albany, N.Y. The
total cost is for any length of time up to and
including the hours parked. For example, parking
for up to and including 1 hour would cost $1.25;
parking for 3.5 hours would cost $5.75.

Hours
Parked

Total
Cost

1

1.25

2.50

4.00

5.75

7.75

2
3
4
5
6

10.00

Graph the step function that represents the cost for
the number of hours parked.
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Explain how the cost per hour to park changes over

the six-hour period.
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Hours Parked The cost for each additional hour increases after the first 2 hours.
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